
1ÊÙ~ 1:Hemophilia A carriers

X1 = log10(AHF activity)
X2 = log10(AHF-like antigen)
�~|:n1 = 30;��|: n2 = 22

x̄(1) =

(

−0.0065

−0.0390

)

, x̄(2) =

(

−0.2483

0.0262

)

S−1
p

=

(

131.158 −90.423

−90.423 108.147

)
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(1)

W (−→x 0) =

(

−→x 0 −
1

2
(x̄(1) + x̄(2))

)

′

S−1
p

(x̄(1)
− x̄(2))

= −2.01 < 0,

Ïd,−→x 0 = (−0.210, −0.044)′ ���ö.

– p. 2/3
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(2)� p1 = 0.25, p2 = 0.75�,

W (−→x 0) =

(

−→x 0 −
1

2
(x̄(1) + x̄(2))

)

′

S−1
p

(x̄(1)
− x̄(2))

= −2.01 < ln

(

0.25

0.75

)

= −1.10,

Ïd,−→x 0 = (−0.210, −0.044)′ ���ö.

– p. 3/3
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